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OVERVIEW

The X n3 states that we cannot derive mm>w by 7m0 from P73, because
we can argue that 9 12w 10w PR 7. Our Moo explains why we cannot
use the same X375 that prevented us initially from deriving mmow by Pw7p
from 1217, namely 2"¥2 12w 19w PWITAR 72 which applies to iman as well.
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However the X773 could not have asked, for indeed w17 is valid even
forcefully (therefore there is mmow, as opposed to 70 where there is no

5"ya, therefore there is no Mm>w), as the X3 asked previously when
attempting to derive mm°%w by P17 from w3 The reason we cannot say this is -
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Because now we can argue that 1w175» will prove that even when there is no
2"y3, nevertheless there is MMHW.
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However before when the X713 used the distinction of 2"va 1w Pw

previously, it was only concerning deriving P@17°p from 1v3; at that point we
did not yet know that that there is M2 in a case where there is no 35"y therefore there
is no 1°27 to disprove the argument of 2"v2 1w,

SUMMARY

The X270 of 2"ya Jw° 1PW WY 77 is only before we know that there is
mmhw by PwITR, however once we derive mimhw by PwITRP we can no
longer argue 2"¥2 W’ 1OW PWITA? 1, since we can say that 1121 PLITP.

THINKING IT OVER

The X723 eventually derives mmhw by 2170, Why is it then that when the
X713 states that we cannot derive w17°pP from PW17°) since 2"v2 13w, the X773
did not respond r*21n n?*

' w13 can be performed even against one of the participants will (namely the 7wX); however 7110 cannot
be performed against the will of any of the participants.

% Once we derived mmbw by PR (from 7n°m nRX™M) it proves that there is MM?Ww even when it is not 3"va.
? See “Thinking it over’.

* See following 19w 7'"7 Mmoo,
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